4-DAY WEEK TRIAL IN BRITAIN

According to what is said in the report, are the sentences below true (T) or false (F)?

1. The trial will last for six months and involve more than one country.
QT aF

2. Seventeen companies will be monitored.
QT aF

3. The brewery will not reduce its employees’ pay.
QT AF

4. British workers are productive because they work long hours.
QT AF

5. The recruitment company started the trial at the beginning of the year.
QT aF

6. Companies can make savings if they implement a four-day working week.
QT AF
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